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ﬁ Answer either in English or in Assamese.
t ; 1. Answer as directed : iy NG '1*10:10
; _ i;_\\lCF/i"l 51;32”2:1 | Oex Al ¢ iyt

(@) “There is no relationship between
- manpower planning and professional

planning.” (State True or False)
“Si *Ife AR B (IR “AFFEI Tiers

@A AEE AR (om @ oo F)
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(b) “Performance appraisal system can

- always be free from personal bias.”
A (State True or False)

“PI AT T el S ISt
AT o] I [ AR
(3% (77 % o)

() Human Resource is an important
of an organisation. i
(Fill in the blank)

T T @) Aol @ el |

(T 22 9T F9).

(d) Virtual organisation is also known as

| ; (Fill in the blank)

SR TN e Tt T
(T 312 97 71)

- (e) Which one of the 'follo,viring‘ is not a
~ fringe benefit ? |

o (PCH! @eRfRes MR Ty
(i) Health and Safety
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(i) Pension Scheme '. Py |
(ole bl
(ii) Efnployec Sccurity
' (iv) Compens.ation *
el -
: (Choose the correct answer)

(% @“?a?r AR Glasd)

() Which of the following 1s a hindrance
to effective training? -y :

- R=fiRe WWMW@EW?W?‘T? it
(i) Career planning workshop
TG AR T
(11) 'Aggregate spendlng on trammg 1S
inadequate |

el \‘BWWW@E@W
- (iii) Mentoring
(1v) Career counselhng
W@ﬁw A ,
: (Choose the correct answer)

(‘9’«’?‘7 @‘@3357 ?ﬂ% t?]%’@af)
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Whlch one . of the following is not a
-~ function of Human Resource

(g)

. ManagemenL ?
2 “C p! sﬁ;q‘gj oo AEZIPIIE G w17 wea o

) Planmng
- iR
- (i) Staffing
S mfsﬁrﬁ ﬁ‘{%ﬁﬁcf
.'(uz) Preparatlon of budget
(61 W‘\

(iv) Weather forecasting
T NG AV
(Choose the correct answer)

(@5 Teh) AR Oesd)

. () Which of the followmg is not a limitation
- of Human Resource Accounting ?

|

i i(i) ‘ OPPOSlmon of t:rade union '

i e ﬁwmq
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(i) Lack of suitable policy
(iii) Supply of information to investors
RiFCaIsRAIS ©2 G
(iv) Ndne of the above
@oieq Ble W=

| (Choose" the correct answer)

(em @"@‘@fﬁf AR CFsal)

(1) '-.VWhICh of the followmg 1s electronic
- training medlum ? . .

ﬁw%iﬂ— a0 tagf—»[ szirwa ‘in&m? |
(1) VAud1o v1sua1 med1um b
ETRN ST
'ﬁi) 7 Comput»er—centfic' medium .
W‘ﬁ@?’imm |
St ¢ VideQ conferencing
o (1v) All of the ‘Habove

@oE TR |
 (Choose the correct answer)

(em GG arfs @%\,ay)
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3 Whlch of thC following is in correct
S ippder s

| "ﬁﬁfgﬂ@ . ?{ﬁ?ﬁ IS G 7

‘ (i) - Job analysis, recruitment,
 induction, selection, placement
; wﬁmﬂtf’ ] 16’13 E”Ci I Ia 1|§i'l, ?"&
(i) Recruitment, selection, placement,
induction, job analysis
T, AR, BITS COICEH, S, 5
R

(iii) Job analysis, recruitment,

selection, placement, induction
(w) All of the above
| ‘,@WW_ BRER
i ‘ (Choose the »corre?.cf answer}

(o Geweh AR Fersd)
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; 2. Write very short answer : 2x5=10 -

e 5 Ty il

(a@) Write two differences between Human

" ReSource Management and Human

Resour¢e Development.

R /7 ARG S T 7217 R e
o 7ol oAy ol |

(b) What is"'placement?
gifEresel W o

(c) State two iinportances of work-life

balance

| W@?Tﬁ_ﬁﬂw le‘ @w @@'«’IWI

(d) Mentlon two ob_]ectlves of transfer.

® W%W@MWQIWI

(e) What is downsizing ?

IR RIS A 2
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(e)
s '_human resource management

5 :'WWWWWGWWWI

V Answer dny four of the following :

5x4=20

*—aﬁmwﬁﬁ?@@ﬁm

| -(a)

m

,Descnbe in brief the role of a human

b resource manager

amavrwwsﬁ%ma¢< BT 99N T

_D1st1ngu1sh between recruitment and

selectlon

"-naaa<wmsawﬁrzwmr-vmﬁrroryrnn »

- What are the requlrements of a good
f Wage plan ?

’-kﬁﬁ-—Wquﬁivwﬁﬁaemm@ﬁmr#@waﬁ%?

- employer and employee.

Explam the relat1onsh1p between the

TR i w1 e 7ofe 2qregt < |

State the 'imp-or’tance of ethics in
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i)

Answer any four of the following :

Write in brief any two methods of

performance appraisal.

el SEURAR Rl 75! 21w b o1l |

10x4=40

e AR 2/ el bifeble oes il

i)

(i)

Explain the meaning and importance

~ of training. Distinguish between

training and executive development.

ARl i W g I | AR oI
TR R Tere Ay Sl | -

Why is it necessary to maintain

~ industrial health ? What measure do

you suggest to improve the mental and

‘_'physical health of employees in a

private sector orgariisation ?
5+5=10

- ST FIF T S Y AW i

‘/14ﬂﬁﬂdﬁi?ﬁﬁ?ﬁﬁﬁﬁfWﬁ#$EW$ﬁﬁm%$3m$
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lain -'the steps involved in human

(m) EXp.
s resource plannlng
A srm el qﬁzﬁaﬂﬁ aferniTE Y =
(iv) What is recrultmentD EXplam the
processes of recru1tment S 37210
st e @9 TR af—zrmsg -
Wl e

(v) Describe the importance of human
resource information system. What are
~ the steps involved in designing human
‘resource inforrriation system ? . |

| ! 5+5=10

WW\‘;%W@ efat /11 | TR
ST e oS RN TS e
AMCFIA 6 &2

(vi) Explain the emergir__lg challenges of
human resource management in the

LA present busmess envn'onment

WWWWWWW
anw,y T

. 4(Sem-4/CBCS)HC3 (HRM)/G = 10



9 (vii) Describe the essentials of a good
incentive plan. Why should it consist
of both monctary and non-monetary
incentives ? Discuss.,
a0t ©1 Twsifa wlisfa sttt Sotmirms a4
| 9ol Wefoe GGl oiF oRi-fagn Gey
Sraifd 57 4O Bfow 2 s 741 |

(viii) Discuss the problems of performance
appraisal. How can performance
appraisal be made more effective ?

T | FRFTO! FoIT (A (L Pefe] FRA
MR 2 | |
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